2-16x+[ b gRAgAol B [ ] greo

® @ -8 ®-16 @6 ® 256

(x—8)2 = x> - 16x + 64
w2t [ | =64 o]t




2. TS A - 618 A5 Baetu?

@ (a+8)(a-3) ® (a+32)(a-2)
® (a+32)(a-32) @ (a+8)(a+8)

® (a+16)(a—4)

‘ a’>-64 =a*-8%= (a+8)(a-28)




3.

832 - 10xy - 122 2 Q1523 B 1, 91521 L D=7

©4x+3y @ x-y ® x+2y

@ 2x+ 4y ® 4x-3y

8x? — 10xy — 12y? = 2(4x2 — 5xy — 6y?)
= 2(x—2y)(4x + 3y)
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D x®-5x-6=(x—2)(x—3)
@ 12x - 4x® = 4x(x - 3)
@x2 - 1dx+49 = (x-7)?

@ 3x* +5x—-2=(x—2)(3x+1)

@‘W - 9b® = (2a - 3b)(2a + 3b)

@ (x=6)(x+1)
@ —4x(x - 3)
@ (x+2)(3x-1)




5.

X2 —4x+372x2-3x-9 9 EE
C} -
| —

>
l> ekt x -3

oH =

A~
91 914

£ Tstofet.

¥ -dx+3=(x-3)(x-1)
2x2 -3x-9=(2x+3) (x—-3)




(x+4)*-3(x+4) & d+Eofistd?

@ (x+4)(x-1) @ (x-4)(x+1) @ (x-7)(x+4)
@e+96+1) O x-Nx+1)

(x+4)2-3(x+4)=(x+4)(x+4-3)
=(x+4)(x+1)




7. X-18x+A=(x+4)(x-B) & W, A, B9 = 77 F35tof=t.

> =
> £
> HE: A=-88
> HMEH B=22

x?—18x—88 = x? + (4 - B)x— 4B
4-B=-18, ©.B=22
A =-4B = -88




ofd o] ZpAS 7k, &o] thEat Zo] AR sl k. A= o)At
AZ Hr2A 14=olotH a(x—b)(x—c) € W, a+b+c o T
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2 S 4TTS EHEL B Bx+3)(x-7) 22 QAIFE

A2 3x% — 22x + 24 A A4t +24 E A B,
22 322 — 18x — 21 oA x O] AlF= 18 2 9| H ot}
wHehA] 3x2 — 18x + 24 = 3(x — 2)(x — 4)
La=3,b=2,c=4

“a+b+c=9




(e~ 2)? - 1802 — x) + 728 LAY Fo2 ekl v, U7

Ngo G

@ 9 @ 2x+3 ® x+3

@)4x ~2 ® 2(x-3)

a2+ (x=3)+(x+3)+(x—4)=4x-2




10.

2x—y)(x—y+1)-24 &
o, ax? + bx + ¢ E U5EMNSHH?

® (3x-1)(x-2) @ (2x+3)(x+1)
® (3x-2)? @) @x+3)(x-1)
® (Bx+2)(x-1)

B
x—y=Az2 ¥
24(A+1)-24 =242 42424
= 2(A+4)(A-3)
=2(x-y+4)(x-y-3)
et a=2, b=1, c=-3°|th.
S22+ x-3=(2x+3)(x—-1)




11. (a+20)2-25¢2 = (aH | b+] )@t |- o) oA ]

oFell e 58 A2 A oler.
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(a+ 2b)% — 25¢2
= (a+ 2b)% - (5¢)?
= (a+ 2b+ 5¢)(a+ 2b - 5c¢)




(x* + 5x + 6)(x? — 3x + 2) — 252 & HF=A| Il gF

@) (2 + x+12)(x - 4)(x +5)

X2 —x+12)(x+4)(x-5)

X +2x-12)(x+4)(x - 5)

®© ® 0 ©

(
(
(x* = x=12)(x+ 4)(x - 5)
(
(

X2 +2x-12)(x —4)(x + 5)

~&B

(x% +5x+6)(x2 — 3x + 2) — 252
=(x+2)(x+3)(x—1)(x—2) - 252
((x+2)(x = DH(x + 3)(x - 2)} — 252
(x2+x—2) (x2—|—x—6)—252
+x =12 2SI,

(t—2) (t-6) — 252

=2 — 8+ 12 - 252

= 1> —8r—240

(t+12)(z — 20)

(x% + x + 12)(x? + x — 20)

= (2 +x+12)(x—4)(x+5)

s




13. X 4+4x2 445 JFEHSHA (ax? +b)2 0] At T, a+ 5 2] G
otz (H a > 0)

A +4=(x?)2+4(x?) +4= (x> +2)?
watA, a+b=1+2=3




14, x*—y*4+6x-2y+8 & AFEMNHH (ax+by+c)(x+y+4) & o,
a+b+c o g Tt

x2 -y 4+6x-2y+38
=2+ 6x— (2 + 2y - 8)
=x>+6x-(y+4)(y-2)
={x-0-2)Hx+(+4)}
=(x-y+2)(x+y+4)
~a=1,b=-1,c=2
“a+b+c=2




O Bl gkl o1 7t 7 2 217 E Aedi= Azt

H7]

@ 3x-2x-8=(x+A)(Bx+4)

© 4x>+Cx-3=(2x-1)(2x-D)
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@3x—-2x—-8=(x—2)(3x+4)

LA=-2,B=3
© 4x> + Cx -3 = (2x-1)(2x + 3)
. C=4,D=-3

A=-2,B=3,D=-3, C=40°|B2 /I Z AL 2|t}
2 29 C, B, A, D °|th.




16. o2 5 x%? — 2%y —xy? + xy 9] AFE?

@x—l @ x+1 @ y+1 @ x+y

Py? =%y —xy® +xy = wy(xy —x—y+1)
=xy {x(y-1)- (-1}
=xy(x=1)(y-1)




17, —9x% +y? +6xz - 2% & AFEMSFAHY (ay - 3x +2)(y + bx + ¢2)
7v H ik, oldl, A4 a, b, ¢ ol H5ke] a+ b+ ¢ O] gk& F5HA?

@ 1 @ 2 (@)3 @ -1 © -2

B

-9x% +y? 4+ 6xz — 22

=y% - (9x2 — 6xz + 2%)

=y - (3x-2)°
={y-Bx-2)} {p+Bx-2)}
={y-3x+2)(y+3x—2)
a=1,b=3,c=-1
sLa+b+c=3




18. a+b=V6,ab=109]1, (a—b)a®>+ (b-a)b®> =k 2 & o, k? 2
= kY

O 20 @ 21 @ 22 @ 23 ®)24

(a-b)? = (a+b)*-4dab

— (VB -4=2

(a=b)a® + (b-a)b* = (a-b)a® - b*(a - b)
= (a=b)(a®-1?)
= (a+b)(a-b)
=26
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19. ——— 9 @& Fstof=h

276 — 98
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VoIl —815
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20.

1 _
@ +a+1=0Du, all 4 — o Fh3 Frotolef,

[
H =

>
|> o= -1

oH =

1
Ta+-=-1
a

a?+a+1=09 FH a-15 FoH
(a-1)(@*+a+1)=0
cad-1=0,a=1

1 1

watt + piTy = (03)3 ca® +




